ER2AFEAR RMREXZERE. SRESOR R @nusanans

TH24FE B4 THR23ERE B4

K4 LE.ABRR | BE TRFS | 20F 5% R4

(FEE) TRAREG | =g | RS | BRE| LT FEa) | EE | aE | AnE

AOT F+K:9/26 AO1

(~8/1) Fix.10/4 14 106 18 18 (~9/3) 17 17 17

AOT
AOL (~10/8) 11 9 9
1Bk ?gf ] } j;g 30 30 30 fEER 37 36 36
. 90
— R 5E1 ) H&:11/18 —HRAEE1
(~10/28) F4E11/29 338) 150 121 (~10727) 23 22 17
—hRnE2H &K 12/23 —fR Ao
(~12/2) F45:1/10 20 58 23 20 (~12/3) 16 16 13
ARt | o mR213 AL

(~1/23) | =i | % 801 (~1/26) 128/ 95 54

BAR %*%:3/6 BA

(~2/15) F45:3/14 14 (~2/17) 30, 16 14

. ch=®
cH (T 10 7 6
CowvsE | ®EZo2/3 | wh—-18
(B0 | FERR221 | 3(_) o ?",’ (~2/1) 152 125 42
t4-2 84 #3:3/16 toa-28]

(~3/9) F5:3/26 10 (~3/10) 2 2 o

tU9-384 F3.3/28 4 t5—-3HA 10 7 5

(~3/22) FE4%:3/30 (~3/24)

B4 ET4 Bt 1 1 1
SRR asel o ess) vi7| eol mamkRESH| 152 126] 79
EEFH | 188 341 104 90 . MgzassobeH] 164 133] 75

YT R NN S R SRR SR RERMTSAER) S a) 2

= 8RS R T L F 97 72 48
FEEREE - FREREE 0 — -
£ 276 1.243] 221 189 a5 372| 223
BEAEBOEBEOHR B4
H20A S| H21 ASE [H22 A5 [H23 A% [H2e A =t H23& D EEBS
AOAEE 33 45 41 28 106 3.79 &
— A BRI R 72 55 52 60| 368 6.13 {Z
— R4y B2 HA 7 1 3.63 &
AR 87 62 83 » ‘ 391 & ~FERZ Mt 1/2384]
o 5—1# 70 53 44| 152} 210 1.38 f& —FEERMP 1/3088]
5t 262 222|231 384] 1,243 3.24 {&
[EFEE . AFEDHR (BE4)]
1600
1400 | | Ao BEEHE (. 28 . SRR, ABR i
o1 EBEEYR 1,243
1200 F&ﬁﬁ%%{l
1000 924 936 9;;*.
800 f
400 |
200 |
0 I L A i 1 i I L 1. 1 1




